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A AdTLr2el
2 Xots2tel
chel: XISt 2F 0l CEREE
A -H2A(EAH) - MY - BES Off A OH a%ggi; Hlns2t
A& 22| 0 20,035,385 16,135,641 3,899,744
= 2,509,470
= 5,655,280
< 180,290
= 11,690,345
Xl 5ha=2te] 22,823 22,232 591
X5t ol 22,823 22,232 591
X5t HBH-e 22,823 22,232 591
101 o124l 12,523 12,132 391
10 JIZtHMIZ2XSES 12,523 12,132 391
O XatIHL0IS Matgh =& o2 12,523
23 32,000 * 1% » 250 8,000
- 529 32,0009 * 1% » 48Y 1,536
- 402 8,000,0002 * 1% * 4/12 2,667
P I= =, 32,0009 * 1% = 10 320
201 LErRYH 700 500 200
01 AFRZ2ldl 700 500 200
O Xota=oHg S22 oAl 7,0009 * 2% » 50 700
202 O1H 1,600 1,600 0
01 20| 1,600 1,600 0
O Xota=oHg oleael =0 20,0009 * 2% * 40 1,600
301 Yer2Aa 1,000 1,000 0




SA:

A& t2te| ot

& Xlote2el
S KXot 2o CEREE
SH-EH . O(E) - MBAY - B of Ao S HRS2

12 JIEIE A2 1,000 1,000 0

O XotE HZ2=D| ADX ZAS 50,000& x20=2 1,000
401 AIEHIZE20HY] 7,000 7,000 0
01 Al&H| 7,000 7,000 0

O KXotz H3Xel 700,000& x10= 7,000
WESTABEXAS 48,672 46,680 1,992
MRst TABETH 36,176 34,440 1,736
CEAM CAEXZS 36,176 34,440 1,736
201 B2 HH| 940 700 240
01 At22t2ld| 940 700 240

O LH8A L LAMIES o EE)|IZS(0SHZ) 2002 * 500& 100

O L&A o SE2X A 7,000& * 2% x 60 840
202 O4d] 2,200 2,200 0
01 =2WAbl 2,200 2,200 0

O L&3A & LANMXE S0 20,0003 * 28 = 55! 2,200
301 LEEAZ 3,336 2,940 396
09 ZSUIARLIBAZ 3,336 2,940 396

O=-1= 80,000& * 1 = 128 960

O =4l 7,000& * 1 = 222 = 128 1,848

O syl 2,000 * 18 = 222 x 12& 528
307 QIZ2t0| A 29,700 28,600 1,100
05 oItz 29,700 28,600 1,100

O SgHEH-EA ¥ “ANXSE & S| 135,000& * 4% = 55¢ 29,700
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A AL 22

F: ALz WEY &=
e EHel i ER)
SN HE - SI(E) - NRAY - BES &k oy e =2
O &E22=8 NEmIU 1,5002 » 304 * 150 = 2CH 13,500
O E§ZEd X2/l 400,000 * 2CH = 12& 9,600
O 9ZExy Zgd HUBEZ 1,300,000& * 2CH 2,600
O E2E+8 (&) &4l <2/l 500,000& * 43 2,000
O WAEXE HEE SHI| WE A 500,000& = 2CH 1,000
O ET22XNE+E I 23U(3LR) 1,600& * 404 » 20 * 2CH 2,560
O EZEY SHHMNERES 130,000& = 2CH 260
O sZANEEH 4= 15,000& * 122 180
O sZAM&EE EXE &0 20,000& * 12& 240
202 O4Hl 2,220 1,900 320
01 2UAHI 2,220 1,900 320
O RASA X S0HH 70,0003 » 2% » 3 420
O &zl Ws0l 70,000& * 209 1,400
O 2, sHEEZ H2FX ¢l 20,000& = 1H = 20 400
206 M =4l 40,000 36,950 3,050
01 M=z Hl 40,000 36,950 3,050
O HolltHe#E 2 & A3 7L 22,0004 * 30m * 2200 X+ 14,520
O doith#g 20U 2¢ 600& * 5,0000HK 3,000
O doitidz g3tzs 7 5,000& = 2,000% 10,000
O E22+8 MHHAL(NAHNES) 2,000,000& » 14! 2,000
O S22+8 HAERA(AEE) 7Y 60,0003 * 8& 480
O ZEsHEZ2E2+EXNM(0tAZ, 0! s 10,000,000& * 14l 10,000
401 Al&HI LSO 301,098 217,400 83,698




SH: A4tz
F: ALz WEY &=
el NYER SuBe (crel
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
01 Al&HI 291,000 213,000 78,000
O 2, s0HEEZ=z B4 10,000,000& * 204 20,000
O &, s0HEEZ &45Y T M| 2,000,000 = 5IH & 10,000
O 25, sHEEZ M2RE =T 7,000& = 3,000m" 21,000
O 2k, sHEEZ Xtd = MY| 2,000,000& * 20km 40,000
O &, sHEZZ |RXCIAMG 100,000,000& = 14! 100,000
O 21084 OtAE X RIIALY 100,000& = 1,000m 100,000
03 AlZ=0HdI 10,098 4,400 5,698
O ZE, sHEZZ 57 EAMMA FHSXU= 450,000& * 53 = 2CH 4,500
O &, sHEZ=Z SA2CAY S0l 1,555,000,000& * 0.36% 5,598
405 RH&HFESHI 1,000 500 500
02 SM7LH 1,000 500 500
O Ad2d d2AMAHE (=2, 1E,5HH) 50,000& * 105 500
O AESA EE3HE 2L 50,000& * 10& 500
g ¥ OHMAE JHE 30,000 50,000 220,000
401 Al&HI LS OHYI 30,000 50,000 220,000
01 Al&HI 30,000 50,000 20,000
O L= AZuE AHA & IHE | 15,000,000& * 2JH A 30,000
Nz e & &l 3,768,092 3,826,837 AB8,745
=& MelE SEE 1,065,632 434,660 630,972
401 Al&HI LS OHYI 1,065,632 434,660 630,972
01 A&l 1,049,520 431,512 618,008
O 2E9sE(5LX7) SZFAMY DAHI(HS) 15,000& * 15,000m’ 225,000
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A AL 22
o Nge2 s &=

ool NYE=Z e 2 EH| (el &)
. _ . rJE)- ~
SN EHE L SR(E) - HRAY - BAS 0l &k iRt HlmE 2
O ZZ1SEH(YEXR) EEZZAY B4 15,000& = 5,300m’ 79,500
O ZLISE (SR F) SEIAHI(HS) 745,020,000& * 14 745,020
03 Al&=CHYI 16,112 3,148 12,964
O ZLISE (SR 7)) SHEEZ AL ALY 970,020,000& = 0.63% 6,112
O ZEAelE SEZESAt EE, 2EEI =2 10,000,000& * 14 10,000
SHEZZ SZ A 2,560,460 1,160,041 1,400,419
401 AlEHIZL=20Y| 2,560,460 1,160,041 1,400,419
01 Al&H! 2,535,120 1,152,732 1,382,388
O 88s0HELZ 30456 At 142,800,000& 14 142,800
O 88sUHEER 20956 S EZE A A A& A 33,000,000& = 1A 33,000
O WMsHEEZR 01 SHEIZALY A AL A 33,000,000& *1A 33,000
O db=sHEEZ206s 6 & A& A I 250,000,000& = 3.73% 9,325
O dbUsHEEZ2065E AtSHI 238,875,000& * 14l 238,875
O sHEZZ2(US2018) EZZAMY HAEHYI 42,000,000& = 14l 42,000
O sHEZZ(US2018) SHEZEAIY EXIOHLYI 15,000& = 22,000m’ 330,000
O sHEEZZ(UHS2015) SEI ALY 1,700,000,000& = 14 1,700,000
O HESHEZZ 3045d A AIEA LI 150,000,000& * 4.08% 6,120
03 Al&=C0HYI 25,340 7,309 18,031
O HESHEZZ 3045 Hd SHEIZALY AlL201Y| 150,000,000& * 0.72% 1,080
O sHEZZ(UHS2015) SHEZFAIYE AlE=20HH] 2,072,000,0002& = 0.36% 7,460
O sHEZZ HEIIAMY S, 2dFEI =2 15,000,000& * 14! 15,000
O dU=sHEEZ2065 6 A& 250,000,000& = 0.72% 1,800
o, sHEEZ 028X B4 60,000 24,000 36,000




S ALt 2el
o Nge2 s &=
el N2 e 2 Fhl

m
0
F
o

SN EY O (BH) - MR - Ba= Aol Bl =2t
01l &

401 AlEHIYL 204 60,000 24,000 36,000
01 A&l 60,000 24,000 36,000

O 2% DI=EXNE A 15,000& * 2,000m’ 30,000

O sHEE=z 022X 24 15,000& = 2,000m’ 30,000
=&, sHEEZ EXNEEX 10,000 20,000 A 10,000
401 Al&EHIL 2Bl 10,000 20,000 A 10,000
01 A&l 10,000 20,000 210,000

O 2%, sH&Ekz EXE 44Xl 5,000,000& * 2JH 2 10,000
HASZE X 72,000 56,000 16,000
401 Al&EHIL 2040l 72,000 56,000 16,000
01 A&l 72,000 56,000 16,000

O 2%, sHEzzs s2% 44Xl 8,000,000& * 9QIH 72,000
A2 Helol 2579 KA 1,700,000 2,049,000 A 349,000

s 850,000

= 850,000
Hel0IEE32Y i 1,564,000 1,722,000 A 158,000

as 782,000

i 782,000
401 AlEHIZL204YI 1,564,000 1,722,000 A 158,000

s 782,000

= 782,000
01 A&l ,558,370 1,713,476 A 155,106




A AL 2tel
o Nge2 s &=
22 ool =2

el 2L o S39 fa (el &
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t

O 020|257 HEALY A A& A 43,010,000 * 14 43,010
z 21,505
z 21,505
O Of2I0I2E A &AL HI (3 A) 1,515,360,0002 * 14| 1,515,360
z 757,680
z 757,680

03 Al 5,630 8,524 A2,894
O OE0IBS2Y HEALY =& 5,630,0002 * 14| 5,630
z 2,815
z 2,815

A2 HHAY 136,000 327,000 A191,000
z 68,000
= 68,000

401 AlEHIZ S 136,000 327,000 191,000
P 68,000
2 68,000

01 Al&HI 126,000 324,645 198,645
O AS T2 HEAIY AAEA Y 30,000,000 » 14! 30,000
z 15,000
z 15,000
O A2 S AL 96,000,000 * 14! 96,000
z 48,000
z 48,000
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SA: A2
Hu: =0l AMe s
chelt HaX 22 crol xR
= CESI(SIH) - HISAY - BYS oy e =2
MN==Xl 22| s 1,685,000
iy 198,700
M=a=X |X2e 84,700 100,500 A 15,800
401 AIEHIZL20HY] 84,700 100,500 A 15,800
01 Al&H| 84,700 100,500 215,800
O Z2&el MEX =225 2L2Z2AH12100A) 5,000,000& * 121002 * 10% 60,500
O M=K &=HHLY EHIDI & 200,000& * 12104 24,200
SHECHY| SO0 299,000 185,000 114,000
g 185,000
iy 114,000
206 M= 4| 36,000 0 36,000
01 M=Hl 36,000 0 36,000
O steithibl =3+ 7Y 12,000& * 3,000 36,000
401 AIEHIZL20HY] 231,000 185,000 46,000
g 185,000
o 46,000
01 Al&H| 229,337 181,855 47,482
O SHLHHl SEMEAISE A& 229,337,000& * 14l 229,337
g 183,670
o 45,667
03 A&y 1,663 3,145 A1,482
O &t S4INL AL AIE2THHI(0.72%) 1,663,000 1,663
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SN AT 2RI D
Mo =e W 23

el HaX 2 (el x
SH-HH . H(BH) - HRAY - B2 Ofl AF o4 ggi HRE2
P 1,330
fiis 333
405 AH&HFESHI 32,000 0 32,000
01 ML SEFHSHI 32,000 0 32,000
O st iidl 2==I| 320,000& = 100CH 32,000
NE=S204e 1,500,000 1,000,000 500,000
s 1,500,000
401 Al&HI LSO 1,500,000 1,000,000 500,000
s 1,500,000
01 Al&H] 1,465,650 893,000 572,650
O +4X7 NELBLAY A4 1,465,650,0002 * 141 1,465,650
s 1,465,650
02 Zeltl 24,900 40,000 15,100
O =&X7 NE=22AE Zaltl 1,500,000,000% = 1.66% 24,900
Py 24,900
03 Al =0Hdl 9,450 67,000 257,550
O &K+ NEF2ZA AIE 20| 1,500,000,000& = 0.63% 9,450
s 9,450
AN ATAL 642,770 1,295,333 652,563
s 417,280
= 31,300
2 194,190
ZAEC EAY 48,140 40,140 8,000
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S ALt 2el

Mo =o W 23

el FXEel XNFA (el &)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
201 LetEg] 140 140 0
01 AtR2teld 140 140 0
O XEi= g SIYF oHMl === 2,000& = 70002 140
401 Al&HI L2 OHYI 48,000 40,000 8,000
01 Al&Hl 48,000 40,000 8,000
O ZXEel AT S22 At 12,000,000& * 4042 48,000
I A ERZ S 594,630 617,193 A 22,563
s 417,280
& 31,300
= 146,050
401 AlEHIZ 20| 521,600 541,397 A19,797
s 417,280
< 31,300
= 73,020
01 A&l 517,844 535,063 217,219
O JIAHSIEEZ SHEIHAL Al&H] 517,844 ,000& * 14l 517,844
s 414,275
= 31,075
fia 72,494
03 A4 =20 3,756 6,334 A2,578
O JIAHSIE&EZ SHEZALY Al 20| 3,756,000& * 14! 3,756
s 3,005
< 225
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S ALt 2el

Mo =o W 23

el FXNE2 AFAY (chel: =3
SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ

s 526
403 XXIEHHSA=01H 73,030 75,796 N2,766
02 ZJI2SOICHEHtH & A HI 73,030 75,796 A2,766

O JIHABHZ LMY ZHIRES 73,030,000& = 14! 73,030
272 SEIIBALY 871,900 826,460 45,440
SYIIEAY =& 33,400 32,600 800
201 fer=g| 2,800 2,000 800
01 AtR2cibl 2,800 2,000 800

O sgIIbtAIE =& S22 A 1A 7,000& = 49 = 100 2,800
202 O4dl 1,600 1,600 0
01 =LHOIbI 1,600 1,600 0

O sgIIEAY =& 0t 20,000& » 4F 20 1,600
307 QlZtold 29,000 29,000 0
02 QlztAAEx 29,000 29,000 0

O #=clA =clA& 23 3| 29,000,000& * 14l 29,000
A2 sPALDIEE ZHI 838,500 753,860 84,640
401 AIEHIZL=20Y] 688,500 603,860 84,640
01 Al£HI 688,500 553,200 135,300

O =2FMe BH=EY =2 285,000& = 100 Xl 28,500

O sYIIEBAERX OI8Y S+ 20,000,000& = 14l 20,000

O DI2EX BE&HI(sLIIBALE) 15,000& * 2,000m 30,000

O =sgIIEAI (S22 8 )EHAER B A 15,000& * 2,000m 30,000

O &£ ttdel 252 FHIS3AM 30,000,000& = 14! 30,000
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S ALt 2el

HE: =0 BME U3
SR ARD SYIIBAIY (et &2
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
O &2 A& HE s EZEZ2A 30,000,000 * 14 30,000
O SESYIEAEY B2 =L Z2AF HHIAFL 300,000,000 *14! 300,000
O FOUXNXSY SHAHALAIS 200,000,000& * 14 200,000
O |88 AHXF ESHSAIY KX 22| 10,000,000& * 202 20,000
403 XXX S K201 & 150,000 150,000 0
02 3J|I&SOICHSHHEE AL B 150,000 150,000 0
O &= A48H =& SX 22l (AEAH ) 30,000,000& = 14 30,000
O stN3sX7? sHMAIEHEHIAIE (S22 YL 2H£2) 100,000& * 500m 50,000
O 2L XF SEMAI|BHEHIAME (s2LEHHE=Z) 100,000& = 700m 70,000
SEFFI|EE S ALY 2,052,000 1,936,572 115,428
Fay 1,426,000
& 30,557
o 595,443
L PNETRSESS LD =y 1,703,428 1,296,572 406,856
P 1,192,500
= 25,553
iy 485,375
401 AIEHIZL20HY] 1,703,428 1,296,572 406,856
Fag 1,192,500
= 25,553
o 485,375
01 Al&H| 1,692,696 1,254,530 438, 166
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A ALTL2tel

B
HE: =0 AW 2
S SEIFI|EBAL LRk
SH-EH . A(BH) - NRAY - BES 0f &F oA a%ggi; HRS
O HOKT FEANRLAY AL 1,602,696,0008 * 14! 1,692,696
2 1,184,988
= 25,302
2 482,316
03 Al&SCH] 10,732 42,042 A31,310
O FOHIT EFAMBAI ALY 1,703,428,0008 * 0.63% 10,732
2 7,512
= 161
2 3,059
HEA 028X 24 15,000 8,000 7,000
401 AlEHIZ 2O 15,000 8,000 7,000
01 A& 15,000 8,000 7,000
O BEAANY DIZSX 24| 15,0002 * 1,000 15,000
SIT EANL AL 333,572 0 333,572
2 233,500
= 5,004
2 95,068
401 AlEHIZ 2O 333,572 0 333,572
2 233,500
= 5,004
2 95,068
01 A& 331,170 0 331,170
O SDAT FEANRLAY Al 331,170,0008 * 14 331,170
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A ALTL2tel

ni
HE: =0 BM 23
ol SERFIIUEEAY (e e
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

P 231,819

= 4,968

i 94,383
03 Al =201yl 2,402 0 2,402

O Swkl+ H=ZHLALY S0l 333,572,000& * 0.72% 2,402

s 1,681

< 36

i 685
CIAEE HES=Y SA22/AY 174,000 0 174,000
=BT & 22 X2 24,000 0 24,000
101 124 4| 8,000 0 8,000
10 JIZtNZ2Z2NSE s 8,000 0 8,000

O WA+ =8I HE 2t 32,000& * 250 8,000
201 ptEd] 6,000 6,000
01 AtS2eldl 6,000 6,000

O S+ i 1,000,000& *1JH A +6IH & 6,000
401 AEHIRF 10,000 10,000
01 A&l 10,000 10,000

O S+ i 10,000,000& * 1K+ 10,000
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s 808,000
= 17,314
= 328,686
Q XIOHE AL 1,154,000 1,154,000
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301 et 4z 1,250 1,250 0
10 WAIAHIZAZ 1,250 1,250 0
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